
Section One: Install the Canopy

1: Remove the four Phillips screws from the canopy to remove 
    the mounting plate.

NOTE: It is recommended more than one person assist in this 
installation.

1

2: Select the appropriate knockout on the mounting plate and 
    remove it using a flathead screwdriver or other appropriate 
    tool.

A

C

3 4

ANCHOR

3: Align the mounting plate holes with the junction box. Mark 
    one point on each side of the junction box onto the ceiling.

CEILING

JUNCTION BOX

4: Tap the anchors onto the marked points up to the threaded 
    portion with a hammer. Then screw in the threaded portion 
    with a Phillips screw driver.

NOTE: Step 4 is for drywall mounting. Omit this step if 
mounting directly onto a wood surface.

B MOUNTING PLATE

KNOCKOUT

2

SAFETY
CABLE

MOUNTING PLATE

CANOPY

1

1

PHILLIPS
SCREW

SAVE THESE INSTRUCTIONS!

IMPORTANT INFORMATION

1718 W. Fullerton Chicago, IL 60614
Ph: 773.770.1195 ● Fax: 773.935.5613
www.PureEdgeLighting.com ● info@PureEdgeLighting.com
© 2016 PureEdge Lighting. All Rights Reserved. 

Doc # 904-TXSR-2K4K_01

Installation Instructions for Tie Stix Suspension Dynamic/Tunable
White Center Feed Direct Down Light, Remote Power

TXSR-2_K6K

- This product is ETL listed.
- This product is suitable for indoor locations.
- This instruction shows a typical instruction.



D

5: Feed the low voltage 24VDC wires through the mounting 
    plate knockout.

6: Secure the mounting plate to the junction box and anchors        
    using the provided screws and washers.

CEILING

6

LOW VOLTAGE
WIRES

SCREW

5

WASHER

1: Determine the fixture height (H), from the bottom of the 
    channel to the top of the canopy.

Section Two: Install the Coaxial Cable

2: Push each cable through the cord grips on the canopy.

NOTE: If cable is curled or kinked, straighten by holding 
between the shaft of a screwdriver and thumb and pulling the 
cable through.

E

H

CHANNEL

CANOPY

1

3: Use the 18AWG hole of the wire stripper to remove 1-3/8" of 
    the outer insulation to expose the braided wire.

4: Use the 18AWG hole of the wire stripper to remove 1" of the 
    braided wire making sure not to nick the inner wire 
    insulation.

5: Use the 20AWG hole of the wire stripper to move 1/8" of the 
    inner insulated wire.

BRAIDED 
WIRE

INNER
INSULATION

BARE
WIRE

1/8"

G

WIRE
STRIPPERS

COAXIAL
CABLE

5

OUTER
INSULATION

1"

3/8"

3

COAXIAL CABLE

4

NOTE: Scan the QR Code to watch the video clip of 
the following steps or visit 
www.PureEdgeLighting.com/video_feed/installation_
cxc_connector

F

CORD GRIP

CANOPY

2

WIRE

2K or 27K
NOTE: Cord grips hold the fixture weight only. DO NOT pull on 
the fixture during installation or cleaning which may cause the 
power wires to nick and short.

6K

NOTE: Ensure remote power supply wires are present in the 
junction box. Refer to the instructions provided with the power 
supply.

2

http://www.PureEdgeLighting.com/video_feed/installation_cxc_connector
http://www.PureEdgeLighting.com/video_feed/installation_cxc_connector


6: Unscrew the coaxial connector covers and remove from the 
    connector assembly.

CONNECTOR
ASSEMBLY

COAXIAL
CONNECTOR
COVER

COAXIAL
CONNECTOR
COVER

H

6

3

1.5MM ALLEN WRENCH
2MM ALLEN
WRENCH

M4 SET
SCREW

M3 SET
SCREW

7

8

7: Using the provided 1.5mm Allen Wrench, remove the M3 set 
    screw from the coaxial connector assembly.

8: Using the provided 2mm Allen wrench to loosen (do not 
    remove) the M4 set screw.

I

K

  9: Slide the connector cover over the coaxial cable.

10: Place the ferrule over the 3/8" braided wire of the coaxial
      cable.

J

11: Insert the coaxial cable into the coaxial connector until the wires of the center conductor are visible through the M3 set 
      screw hole.

NOTE: Ensure that the split in the ferrule is aligned 90° from the M4 set screw (see inset).

COAXIAL
CABLE 11

CONNECTOR
ASSEMBLY

FERRULE

CONNECTOR
ASSEMBLY

COAXIAL
CABLE

COAXIAL
CONNECTOR
COVER BRAIDED

WIRE

FERRULE

9
10



12: Use the provided 1.5mm Allen wrench to replace and 
      securely tighten the M3 set screw.

13: Use the provided 2mm Allen wrench to securely tighten the 
      M4 set screw until it squeezes the wire ferrule tightly to the 
      coaxial cable.

14: Replace the coaxial connector cover and tighten into 
      place.

15: Repeat steps 3 through 14 for the other coaxial cable.

L

M

N

1.5MM ALLEN
WRENCH

12

CONNECTOR ASSEMBLY

COAXIAL
CABLE

M3 SET
SCREW

2MM ALLEN WRENCH

13

CONNECTOR ASSEMBLY
COAXIAL
CABLE

M4 SET
SCREW

14

COAXIAL
CONNECTOR
COVER

COAXIAL
CABLE

4

Section Three: Power the Fixture

CAUTION: Test the fixture before continuing.

RED
+2000K or +2700K

RED
+6000K

BLACK
-2000K or -2700K

BLACK
-6000K

2000K or
2700K

6000K

O

PURPLE +
GRAY -

C
O

O
L
+

Y
E

L
L
O

W

V
IN

2
+

R
E

D

V
IN

2
-

B
L
A

C
K

C
O

O
L
-

B
L
U

E

PURPLE +
GRAY -

W
A

R
M

-
B

L
U

E

V
IN

1
-

B
L
A

C
K

V
IN

1
+

R
E

D

W
A

R
M

+
Y

E
L
L
O

W

COLOR TEMP

INTENSITY

DIMMING MODULE

2 3 5 4

1: Run the proper size wires from the power supply enclosure 
    to the fixture.

Connect the red coaxial connector wire for +2000K or2: 
    +2700K to the Warm+ Yellow dimming module wire using 
    a wire nut.  

3: Connect the black coaxial connector wire for -2000K or
    -2700K to the Warm- Blue dimming module wire using a 
    wire nut.

4: Connect the red coaxial connector wire for +6000K to the 
    Cool+ Yellow dimming module wire using a wire nut.

5: Connect the black coaxial connector wire for -6000K to the 
    Cool- Blue dimming module wire using a wire nut.



5

  9: Place all the wires and wire nut connections inside the 
      canopy.

10: Align and secure the canopy to the mounting plate by 
      tightening the four screws.

10

10

CANOPY

Q

LINE

NEUTRAL

BLACK

WHITE

12V POWER
SUPPLY

7

8

For Models Configured with Fast Jack Port:

6: Connect each low voltage red wire from the 12V power 
    supply to each red wire of the Fast Jack connector using a 
    wire nut.

7: Connect the neutral power wire from another 120VAC 
    circuit to the white wire of the power supply using a wire 
    nut.

8: Connect the line wire from the same 120VAC circuit to the 
    black wire of the power supply using a wire nut.

P

12V

12V

6

R

CORD GRIP

CABLE

11

11: To make any adjustments to the fixture height, push the 
      cord grips to slide the fixture up and down until the desired 
      height is achieved. Release the cord grips to lock the 
      cables in place.



6

LOAD
N

GND

24V POWER
SUPPLY24VDC-

24VDC+

PUR +
GY -

C
O

O
L+

Y
E
LLO

W

V
IN

2
+

R
E

D

V
IN

2
-

B
L
A

C
K

C
O

O
L
-

B
L
U

E

PUR +
GY -

W
A

R
M

-
B

L
U

E

V
IN

1
-

B
L
A

C
K

V
IN

1
+

R
E

D

W
A
R
M

+
Y
E
LLO

W

COLOR TEMP

INTENSITY

PSB-96W-010-24VDC-2XK

Tunable White: LED Power Supply with two Channel Controls, for Intensity and Color Temperature

0-10V CONTROLLER
CONTROL INPUT 1

(DIMMING INTENSITY)

0-10V CONTROLLER
CONTROL INPUT 2

(DIMMING COLOR TEMP)

LINE

LOAD

INPUT:
120-277VAC

TO POWER SUPPLY

2000K
(2700K)

6000K

LOAD

N

GND

24V POWER SUPPLY
24VDC-

24VDC+

PUR +
GY -

C
O

O
L+

Y
E
LLO

W

V
IN

2
+

R
E

D

V
IN

2
-

B
L
A

C
K

C
O

O
L
-

B
L
U

E

PUR +
GY -

W
A

R
M

-
B

L
U

E

V
IN

1
-

B
L
A

C
K

V
IN

1
+

R
E

D

W
A
R
M

+
Y
E
LLO

W

COLOR TEMP

INTENSITY

RED
+2K or
+27K

BLACK
-2K or
-27K

BLACK
-6K

RED
+6K

+24VDC

-24VDC

DIMMING
MODULE

RED
+2K or
+27K

BLACK
-2K or
-27K

BLACK
-6K

RED
+6K

LOAD

OPTIONAL FAST JACK
ELV DIMMER

12V POWER
SUPPLY

INPUT
120VAC

LINE

N

GND

N

Wiring for Fast Jack Port 

CENTER FEED WITH
FAST JACK PORT 
(FIXTURE SOLD
SEPARATELY)

General Wiring Diagram


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

